T = AdE A9 (71Ed= dAd F v 1
g Al 5,560 5,471 A89 AF7E
d = 3] A - - .
2 A 9,852 9,184 A668
= 2~
Zgg@:}%:?}%} 438 457 19
ﬁ FH AL 164 163 Al
S 5FAT
f’ (TR ZA 1,031 354 AN677
FolRlas
ERt i 7172 7167 A5
e
fﬁgj’%%‘_f ﬁg 1,046 1044 A3

= Axd dHlu
= = Jd=d vl (HRke)
2003 2004 2005 2006 2007
NBAg 8,912 10,355 10,544 8,235 9,449

Ad = AGARAGA o] AAGA G st AAGAE B ARQdA A
(A8t i 71zketel]l AFAZREH JeHe 59 F

A Aol 9% 24 Fol AF B

o ARG LREEA Y QAL gleH, Z|2FEAEELE s,

HASZHAY, AR BEAG R

20034 20044 20054 20064 20074

_10_



